1	
2	Bil
3	
4	
5	a commence de la comm
6	777 777
7	ALIENTALIA DE LA CALLANTALIA DELLA CALLANTALIA D
8	
9	CC
10	
11	WE
12	bet
13	cor
14	
15	apr
16	
17	
18	
19	
20	
21	invo
22	TW
23	said
24	pub
25	
26	
27	
28	
29	

30

BILL NO. S-13-03-17

SPECIAL ORDINANCE NO. S-

AN ORDINANCE approving CONTRACT FOR RESOLUTION 12300, WEST JEFFERSON BLVD - TAYLOR STREET LEFT TURN LANE between BROOKS CONSTRUCTION and the City of Fort Wayne, Indiana, in connection with the Board of Public Works.

NOW, THEREFORE, BE IT ORDAINED BY THE COMMON COUNCIL OF THE CITY OF FORT WAYNE, INDIANA:

SECTION 1. That the CONTRACT FOR RESOLUTION 12300, WEST JEFFERSON BLVD - TAYLOR STREET LEFT TURN LANE by and between BROOKS CONSTRUCTION and the City of Fort Wayne, Indiana, in connection with the Board of Public Works, is hereby ratified, and affirmed and approved in all respects, respectfully for:

All labor, insurance, material, equipment, tools, power, transportation, miscellaneous equipment, etc., necessary for West Jefferson Blvd from a point 240 L.F. West of Reckeweg Rd. to a point 1005 L.F. East of Taylor Street by roadway reconstruction, which includes milling, reprofiling and resurfacing, widening, curbs, drainage improvements, turn lanes, concrete drives, curb-ramps, and side-ditch/lawn restoration for areas disturbed by construction:

involving a total cost of FIVE HUNDRED TWENTY-SEVEN THOUSAND, TWO HUNDRED SIXTEEN AND 19/100 DOLLARS - (\$527,216.19). A copy said Contract is on file with the Office of the City Clerk and made available for public inspection, according to law.

1	SECTION 2. That this Ordinance shall be in full force and effect
2	from and after its passage and any and all necessary approval by the Mayor.
3	
4	
5	
6	Council Member
7	ADDDOL/ED AO TO FORMANDA DE CARACTERISTA DE CA
8	APPROVED AS TO FORM AND LEGALITY
9	
10	Carol Helton, City Attorney
11	Carol Hellon, City Atlorney
12	
13	
14	
15	
16	
17	
18	
19	
20	
21	
22	
23	
24	
25	
26	

Part							best	bid column	l					
## TOTAL \$888 228 50 TOTAL \$567 718 18 TOTAL \$567 718 18 TOTAL \$568 578 50	•		Non-Collusion Cert In Lieu/Fli Bidder's Bond Street Barricad EBE Declaratio Indiana Legal I Addendum No.	nancial Statement le Maint Info on Form Employment Deck . 1			X X X X X X		X X X X X		X X X X X		X X X X X	V
W. Addition							X		X	i			l I	
Bid Tabulation Property Prop		•	'		TOTAL:	\$488,226.50	TOTAL:	\$527,216.19	TOTAL:	\$536,636.00	TOTAL:	\$556,378 <u>.50</u>	TOTAL:	\$653,116.00
Big Tabulation Westeron Nov. & Taylor Spear - Left Turn Lane Payment Restanciation Restancia		••	ļ				% over	7.99%	% over					
PROJECT PROJ	Bid '	[abulation					% under	0.00%	% under	0.00%	% under	0.00%	% under	0.00%
Bird	proit			DES NO.	12200				ĺ					
ITEM	Bid			W.O. NO.:	12300		BIDDER:	Brooks Const., Co.	BIDDER:	Hipskind Concrete	BIDDER:	Wayne Asphalt	BIDDER:	E & B Paving, Inc.
1	ITEM				UNIT COST									
2, Surface Milling, Bilguninous 4500 SY \$1.20 \$5.400.0 \$9.75 \$3.375.00 \$2.20 \$10.580.00 \$2.00 \$3.00 \$3.00 \$3.00 \$3.00 \$3.00 \$72.550.0 \$24.00 \$76.440.00 \$4.0		Makington		1					1	i — — — — — — — — — — — — — — — — — — —				
3 Brewminous Material for Teck Cost														
4 Bitamingus Material for Tack Cost														
Bitamineus Barterial for Approximates, Sida Species 75 TN \$82,00 \$51,50,00 \$52,00,00 \$50,000 \$55,000 \$55,000 \$55,000 \$50,000														
6 Bituminous Base, #50 HMA (also used for Wirelaning) 2400 TN \$50.00 \$120,000.00 \$30.00 \$72,000.00 \$33.00 \$44.00 \$110,000.00 \$46.00 \$110,000.00 \$46.00 \$110,000.00 \$46.00 \$110,000.00 \$46.00 \$110,000.00 \$46.00 \$110,000.00 \$46.00 \$110,000.00 \$46.00 \$110,000.00 \$46.00 \$110,000.00 \$46.00 \$110,000.00 \$46.00 \$110,000.00 \$46.00 \$41.00 \$22,800.00 \$40.00 \$41.00 \$22,800.00 \$40.00 \$41.00 \$22,800.00 \$40.00 \$41.00 \$22,800.00 \$40.00 \$41.00 \$40.00 \$41.00 \$41.00 \$40.00 \$40.00 \$41.00 \$40.00 \$40.00 \$41.00 \$40.00 \$40.00 \$41.00 \$40.00	-				T									
7 Bluminous Binder, No.2 onNo.5 HMA 700 TN \$47.60 \$33,250.00 \$42.00 \$29,400,00 \$46.00 \$31,500.00 \$47.00 \$32,900.00 \$50.00 \$35,000.00 \$68.00 \$31,500.00 \$47.00 \$32,900.00 \$50.00 \$35,000.00 \$68.00 \$34,450.00 \$47.00 \$32,900.00 \$50.00 \$35,000.00 \$48.00 \$34,450.00 \$34,450.00 \$34,450.00 \$34,450.00 \$34,450.00 \$34,450.00 \$34,450.00 \$34,450.00 \$34,450.00 \$34,450.00 \$35,000.00 \$36,0		Biturningus Material for Approaches, Side Streets	.75	TN	\$82.00	\$6,150.00	\$67.00	\$5,025.00	\$70.00	\$5,250,00				
8 Bituminaus Binder, No.11 HMA 650 TN \$50.00 \$32,500.00 \$52.00 \$33,800.00 \$55.00 \$32,500.00 \$53.00 \$34,480.00 \$54.00 \$33,100.00 \$9 Bituminaus Surface, No.11 HMA 650 TN \$55.00 \$35,760.00 \$35,760.00 \$55.00 \$35,780.00 \$583.00 \$40,960.00 \$56.00 \$34,480.00 \$55.00 \$35,780.00 \$83.00 \$40,960.00 \$56.00 \$34,096.00 \$36.		Bituminous Base, #5D HMA (also used for Widening)	2400	TN	\$50.00	\$120,000,00	\$30.00	\$72,000.00	\$35,00	\$84,000.00	\$46.00	\$110,400,00	\$45.00	
## Billuminous Surface, Ng.11 HMA	- 7	Bituminaus Binder, No.8 or No.9 HMA	700	NT N	\$47.50	\$33,250.00	\$42.00	\$29,400.00	\$45.00	\$31,500.00	\$47.00	\$32,900.00	\$50.00	. \$35,000.00
10 Removal of Cencrete	8	Bituminous Binder, No.11 HMA	650	TN	\$50.00	\$32,500.00	\$52.00	\$33,800.00	\$50.00	\$32,500.00	\$53.00	\$34,450.00	\$54,00	\$35,100.00
Removal (Gernolition) of Concrete Center Curb (Sta. 14+50 to 1	9	Bituminous Surface, No.11 HMA	650	TN	\$55.00	\$35,750.00	\$53,00	\$34,460,00	\$55.00	\$35,750,00	\$63,00	\$40,950,00	\$63,00	\$40,950.00
1 Sta.16+00) 1 Sta.16+00) 1 LS \$1,000,00 \$2,500.00 \$2,500.00 \$2,500.00 \$2,300.00 \$2,300.00 \$3,992.00 \$3,992.00 \$3,992.00 \$3,992.00 \$3,992.00 \$3,992.00 \$3,992.00 \$3,992.00 \$3,900.00	10	Removal of Concrete	350	SY	\$5.00	\$1,750,00	\$5,20	\$1,820,00	\$7.00	\$2,450.00	\$5.00	\$1,750.00	\$6.00	\$2,100.00
12 to Sta.0+00) 1 LS \$5,000.00 \$5,000.00 \$7,000.00 \$14,300.00 \$12,800.00 \$12,800.00 \$33,000.00 \$33,000.00 \$33,000.00 \$12,800.00 \$12,	11	Sta.16+00)	1	<u> LS</u>	\$1,000,00	\$1,000,00	\$2,500.00	\$2,500.00	\$1,600,00	\$1,600,00	\$2,300,00	\$2,300.00	\$3,992.00	\$3,992.00
14 Concrete Curb Type III 1420 LF \$16.50 \$23,430.00 \$9.00 \$12,780.00 \$11.00 \$15,520.00 \$12.00 \$17,040.00 \$15.00 \$21,300.00 \$15.00 \$21,300.00 \$15.00 \$21,300.00 \$15.	12		1	LS	\$5,000.00	\$5,000.00	\$7,000.00	\$7,000.00	\$14,300.00	\$14,300.00	\$12,800.00	\$12,800,00	\$33,000.00	\$33,000,00
15 Concrete Sidewalk (4") 50 SY \$38.00 \$1,900.00 \$35.00 \$1,750.00 \$24.00 \$1,200.00 \$25.00 \$1,250.00 \$45.00 \$2,250.00 \$1,000.00 \$2,250.00 \$1,000.00	13	Concrete Curb Type II-B	3000	i,F	\$12.50	\$37,500.00	\$9.00	\$27,000.00	\$9.80	\$29,400,00	\$10.25	\$30,750.00	\$17.00	\$51,000.00
16 Concrete Wingwalk & Ramps (6") 20 SY \$28.00 \$560.00 \$90.00 \$1,800.00 \$49.00 \$980.00 \$51.00 \$1,020.00 \$55.00 \$1,100.00 \$12,000 \$1,000.	14	Concrete Curb Type III	1420	<u>LF</u>	\$16.50	\$23,430.00	\$9.00	\$12,780.00	\$11.00	\$15,620.00	\$12.00	\$17,040.00	\$15.00	\$21,300.00
17 Concrete Pavement for Residential Drive (6") 375 SY \$35.00 \$13,125.00 \$30,00 \$11,250.00 \$27.00 \$10,125.00 \$28.00 \$10,500.00 \$50,00 \$18,750.00 \$18,750.00 \$18,750.00 \$18,750.00 \$19,000 \$10,100 \$10,000 \$10,	15	Concrete Sidewalk (4")	50	· sy	\$38.00	\$1,900.00	\$35.00	\$1,750,00	\$24.00	\$1,200.00	\$25.00	\$1,250.00	\$45.00	\$2,250.00
18 Concrete Pavement for Commercial Drive (8") 150 SY \$45.00 \$6,750.00 \$50.00 \$7,500.00 \$41.00 \$6.150.00 \$43.00 \$6.450.00 \$65.00 \$9.750.00 \$19.00 \$2.200.00	16	Concrete Wingwalk & Ramps (6")	20	SY	\$28.00	\$560.00	\$90.00	\$1,800.00	\$49.00	\$980.00	\$51.00	\$1,020,00	\$55.00	\$1,100,00
18 Concrete Pavement for Commercial Drive (8") 150 SY \$45.00 \$6.760.00 \$60.00 \$7.500.00 \$41.00 \$6.160.00 \$43.00 \$8.450.00 \$66.00 \$9.750.00 \$1.00	17	Concrete Pavement for Residential Drive (6")		SY	\$35.00	\$13,125.00	\$30.00	\$11,250.00	\$27.00	\$10,125.00	\$28,00	\$10,500.00	\$50.00	\$18,750.00
19 Concrete Curb Turn-Out (to existing ditar-line) 11 EA \$200.00 \$2,200.00 \$350.00 \$3,850.00 \$190.00 \$2,090.00 \$2,000.00 \$52,000.00	18	Concrete Pavement for Commercial Drive (8")		SY	· ·				\$41.00	\$6,150.00	\$43.00	\$6,450,00	\$65.00	\$9,750.00
ADA Solutions, Armor-Tile, or Approved Equal "Replaceable" 2 EA \$200.00 \$150.00 \$300.00 \$180.00 \$360.00 \$200.00 \$400.00 \$565.00 \$1,130.00				ÊΑ	\$200.00		\$350.00		\$190.00	\$2,090.00	\$200.00	\$2,200.00	\$520.00	\$5,720,00
	1	ADA Solutions, Armor-Tile, or Approved Equal "Replaceable"											\$565.00	\$1,130,00
			80	TN	\$10.00	\$800.00	\$20.00	\$1,600.00	\$13.00	\$1,040.00	\$10.00			

							bid column	l					
*	•	Form 96 Non-Collusion A	1ffidavít			X		X		X		X	
		Cert In Lieu/Fin	ancial Statement			x		x		×		×	
	•	Bidder's Bond Street Barricade	o Marint Info			X		X		X		. X	
	•	EBE Declaration				ı x		l. 🕏		â	•) â	
			imployment Decia	ration		X	·	×		X	•	l ä	
		Addendum No. Addendum No.				×		×		X		X	
		Addendum No.	3					1				ì	1
				TOTAL:	\$488,226,50	TOTAL:	\$527,216.19	TOTAL:	\$536,636.00	TOTAL:	\$556,378.50	TOTAL;	\$653,116.00
						% over	7.99%	% over	9.92%	% очег	13.96%	% over	33.77%
₽ī4	Tabulation					% under		% under		% under		% under	0.00%
'DIG	W.Jefferson Blvd. & Taylor Street - Left Turn Lane Payement	! <u>-</u>								ļ			
broj:	Rehabilitation		RES. NO.:	12300								l	
Bid Date:	02/20/13		W.O. NO.:	12300 stimate		BIDDER:	Brooks Const., Co.	BIDDER:	Hipskind Concrete	BIDDER:	Wayne Asphalt	BIDDER:	E & B Paving, Inc.
ITEM NO.	ITEM	PLAN QTY	UNIT	UNIT COST Est (\$)	AMOUNT Est (\$)	UNIT COST (\$)	AMOUNT (\$)	UNIT COST (\$)	AMOUNT (\$)	UNIT COST (\$)	AMOUNT (\$)	UNIT COST (\$)	AMOUNT (\$)
2	2 Backfill Behind Curb	270	TŅ	\$5.00	\$1,350.00	\$0.01	\$2,70	\$4,00	\$1,080.00	\$12.00	\$3,240.00	\$22.00	\$5,940.00
2	3 Type "O" Compacted Aggregate for Base, No. 53	960	TN	\$12.75	\$12,240.00	\$20.00	\$19,200.00	\$15.00	\$14,400,00	\$14.75	\$14,160.00	\$20.00	\$19,200.00
2	4 Pipe, CMP, 12"	148	LF	\$100.00	\$14,800,00	\$75.00	\$11,100,00	\$32.00	\$4,736.00	\$53.00	\$7,844.00	\$39.00	\$5,772.00
25	5 Metal End Section for 12" CMP	8	EA	\$225.00	\$1,800.00	\$150.00	\$1,200.00	\$220,00	\$1,760.00	\$200.00	\$1,600.00	\$379.00	\$3,032.00
20	Rip-Rap, Reventment (Undistributed)	100	SY	\$25,00	\$2,500.00	\$20.00		\$24.00		\$15.00	\$1,500.00	\$19.00	\$1,900.00
27	24" Manhole Frame and Cover, Furnish and Adjust to Grade	2	EA	\$400.00	\$800.00	\$325.00	\$650.00	\$510.00	\$1,020.00	\$475.00	\$950.00	\$695.00	\$1,390.00
28	Temporary Silt Fence	100	LF	\$10,00	\$1,000.00	\$6.00	\$600,00	\$4.50	\$450.00	\$6.00	\$600,00	\$4.00	\$400.00
29	Temporary Check Dam - Straw Bales	18	EA	\$5.00	\$90.00	\$35.00	\$630.00	\$28.00	\$504,00	\$35,00	\$630.00	\$29.00	\$522.00
30	Linear Grading - To Drain Corrigated Pipe Installation	5	STA	\$200.00	\$1,000.00	\$450.00	\$2,250.00	\$315,00	\$1,575.00	\$900.00	\$4,500.00	\$959.00	\$4,795.00
31	Borrow	170	TN	\$5.00	\$850.00	\$0.01	\$1.70	\$13.00	\$2,210.00	\$22.00		\$14.00	\$2,380.00
	Tep Soil	412	ŤΝ	\$14.00	\$5,768.00	\$30.00	\$12,360.00	\$16.00	\$6,592.00	\$30,00		\$23.00	\$9,476.00
33	Hydroseeding with Hydrostik or Equivalent Polymer for Erosion And Sediment Control	4000	SY	\$2.00	\$8,000.00	\$1.25	\$5,000,00	\$2.00	00.000,82	\$1.25		\$3.00	\$12,000.00
34	Water Valves (Curb-Box) Furnish & Adjust to Grade	6	EA	\$50.00	\$300.00	\$140.00	\$840.00	\$65.00	\$390.00	\$60.00	\$360,00	\$191.00	\$1,146.00
	Water Valves (Line-Valve) Furnish & Adjust to Grade	1	EA	\$125.00	\$125,00	\$230.00	\$230.00	\$75.00	\$75.00	\$75,00		\$387,00	\$387.00
	Construction Sign, Type "A"	11	EA	\$90.00	\$990.00	\$132.00	\$1,452.00	\$132.00	\$1,452.00	\$145.00	\$1,595.00	\$132,00	\$1,452.00
	Construction Sign, Type "A" with R2-5b " (Reduced Speed 30 mph)	3	EA	\$250.00	\$750.00	\$172.00	\$516.00	\$172.00	\$516.00	\$55.00		\$172.00	\$516.00
	Flashing Arrow (board) Sign	3	EA	\$250.00	\$750,00	\$976.00	\$2,928.00	\$976.00	\$2,928.00	\$3,000.00		\$976,00	\$2,928,00
	Standard Barrigade, Type III-B	6	EA	\$100.00	\$600,00	\$119.00	\$714.00	\$119.00	\$714.00	\$75.00		\$119.00	\$714.00
	Standard Barricade, Type III-B With Signs, Type B Construction	2	EA	\$110.00	\$220.00	\$214.00	\$428.00	\$214.00	\$428.00	\$95.00		\$214.00	\$428.00
	Line, Remove	750	LF	\$2,25	\$1,687.50	\$0.75	\$562.50	\$0.75	\$562.50	\$1,15		\$0.75	\$562.50
	Line, Thermoplastic, Lane, Solid, White, 4 in.	300	l.F	\$0.70	\$210,00	\$0.70	\$270.00	\$0.73	\$302.00	\$0.75		\$0.90	\$270.00
			3.5	40.10	WA 10,001	00.00	9270.00	60,301	. 54,7 8,000	94,70			لكنائينينتند

						best	bid column	1					
7		Farm 96				X		х		X		X	
		Non-Collusion	Affidavit ıancial Statement			X		X X		X	•	X	
		Bidder's Bond	iancial Outenant			î		ı â		l ŝ		î	
		Street Barricad				X		X-		X		Х	
	_	EBE Declaratio	n Form Employment Decia	aratina		X		×		X		X X	
		Addendum No.		MEGON		l ŝ		l ŝ		â		x	
		Addendum No.				X		×					
		Addendum No.	Э,)		}		Ì			1
			,	TOTAL:	\$488,226.50	TOTAL:	\$527,216.19	TOTAL:	\$536,636.00	TOTAL:	\$556,378.50	TOTAL:	\$653,116.00
						% over	7.99%	% очег		% over	13.96%		33.77%
Bid	Tabulation					% under	0,00%	% under	0.00%	% under	0.00%	% under	0.00%
	W.Jefferson Blvd, & Taylor Street - Left Turn Lane Pavement					1							
proj: Bid	Rehabilitation		RES. NO.:	12300								BIDDER:	F o P posta - To-
Date:	02/20/13		W.O. NO.:	12300 stimato		BIDDER:	Brooks Const., Co.	BIDDER:	Hipskind Concrete	BIDDER:	Wayne Asphalt	BIDDEK:	E & B Paving, Inc.
NO.	ITEM .	PLAN QTY	UNIT	UNIT COST Est (\$)	AMOUNT Est (\$)	UNIT COST (\$)	AMOUNT (\$)	UNIT COST (\$)	AMOUNT (\$)	UNIT COST (\$)	AMOUNT (\$)	UNIT COST (\$)	AMOUNT (\$)
4	3 Line, Thermoplastic, Edge, Solid, White, 4 in.	500	LF	\$0.70	\$350.00	\$0.90	\$450.00	\$0.90	\$450.00	\$0.75	\$375.00	\$0.90	\$450.00
4	Line, Thermoplastic, Lane, Broken, White, 4 in.	800	LF	\$0.70	\$560.00	\$0.90	\$720.00	\$0.90	\$720.00	\$0.75	\$600.00	\$0.90	\$720.00
4	Line, Thermoplastic, Center, Solid, Yellow, 4 In.	1275	1.F	\$0.70	\$892.50	\$0.90	\$1,147.50	\$0.90	\$1,147.50	\$0.66	\$841.50	\$0,90	\$1,147.50
46	Line, Thermoplastic, Center, Broken, Yellow, 4 in.	300	LF	\$0.70	\$210.00	\$0.90	\$270.00	\$0.90	\$270.00	\$0.66	\$198.00	\$0.90	\$270.00
4	Line, Thermoplastic, Solid Yellow, 8 in.	235	LF _	\$1,35	\$317,25	\$0.80	\$188.00	\$0.80	\$188.00	\$1.40	\$329.00	\$0.80	\$188.00
48	Line, Thermoplastic, Solid, Yellow, 12 in.	30	LF	\$3.25	\$97,50	\$1.90	\$57,00	\$1.90	\$57.00	\$2.00	\$60,00	\$1,90	\$57.00
49	Line, Thermoplastic, Solid White, Cross-walk, 6 in.	115	<u>LF</u>	\$1.75	\$201.25	\$1.90	- \$218.50	\$1.90	\$218.50	\$1.15	\$132.25	\$1.90	\$218.50
50	Transverse Marking, Thermoplastic, White, Lane Indication Arrow	8	<u>E</u> A	\$125.00	\$1,000.00	\$90.00	\$720.00	\$90.00	\$720.00	\$55,00	\$440.00	\$90.00	\$720.00
51	Message, Thermoplastic, White, Word "ONLY"	2	EA	\$155.00	\$310.00	\$138.00	\$276.00	\$138.00	\$276.00	\$95.00	\$190.00	\$138.00	\$276.00
52	Transverse Marking, Thermoplastic, Solid White, Stop Bar, 24 In.	65	LF .	\$6.00	\$390.00	\$6.50	\$422,50	\$6.50	\$422.50	\$5.25	\$341.25	\$6.50	\$422.50
53	Center-Curb Marking, Paint, Yellow	1950	LF	\$1,25	\$2,437.50	\$1,65	\$3,217.50.	\$1.65	\$3 ₁ 217.50	\$0.55	\$1,072,50	\$1.65	\$3,217.50
54	Line, Edge, Paint, White, 4" (eastbound lane west of Reckeweg)	250	LF	\$0.55	\$137,50	\$0.3 5	\$87.50	\$0.35	\$87.50	\$0.55	\$137.50	\$0.35	\$87.50
55	Temporary Pavement Marking, White, Tape, 4 in.	600	LF	\$0.85	\$510.00	\$0.94	\$564.00	\$0.94	\$564.00	\$1.05	\$630.00	\$0.94	\$564.00
56	Temporary Pavement Marking, Yellow, Tape, 4 in.	3500	LF	\$0.85	\$2,975.00	\$0.94	\$3,290.00	\$0.94	\$3,290.00	\$1.05	\$3,675,00	\$0.94	\$3,290.00
57	Maintenance of Traffic	1	LS	\$16,500.00	\$16,500,00	\$65,522.79	\$65,522.79	\$22,800.00	\$22,800.00	\$8,000.00	\$8,000.00	\$13,400.00	\$13,400.00
58	Work Allowance	11	LS	\$12,500.00	\$12,500.00	\$12,500.00	\$12,500.00	\$12,500,00	\$12,500.00	\$12,500.00	\$12,500.00	\$12,500.00	\$12,500.00
59	Potholing	11	LS	\$1,000.00	\$1,000.00	\$1,200.00	\$1,200.00	\$1,500.00	\$1,500,00	\$2,000.00	\$2,000.00	\$1,240.00	\$1,240.00
60	V-LOK	2	<u>E</u> A	\$100.00	\$200.00	\$35.00	\$70.00	\$110.00	\$220.00	\$60.00	\$120.00	\$100.00	\$200.00
61	Construction Staking	1	<u>LS</u>	\$2,000.00	\$2,000.00	\$5,000.00	\$5,000.00	\$2,800.00	\$2,800.00	\$10,575.00	\$10,575,00	\$10,500.00	\$10,500.00
62	Concrete Pavement Removal (Under Existing Asphalt Pavement)	2800	SY	\$4,00	\$11,200.00	\$8.00	\$22,400.00	\$7.00	\$19,600.00	\$7.00	\$19,600.00	\$7.00	\$19,600.00

IMPROVEMENT RESOLUTION NO. 12300

WEST JEFFERSON BLVD.: TAYLOR STREET LEFT TURN LANE WORK ORDER NO. 12300

RESOLVED BY THE BOARD OF PUBLIC WORKS OF THE CITY OF FORT WAYNE, INDIANA.

That it is deemed necessary to improve: WEST JEFFERSON BLVD. FROM A POINT 240 L.F. WEST OF RECKEWEG RD. TO A POINT 1005 L.F. EAST OF TAYLOR STREET BY ROADWAY RECONSTRUCTION, WHICH INCLUDES MILLING, REPROFILING & RESURFACING, WIDENING, CURBS, DRAINAGE IMPROVEMENTS, TURN LANES, CONCRETE DRIVES, CURB-RAMPS, AND SIDE-DITCH / LAWN RESTORATION FOR AREAS DISTURBED BY CONSTRUCTION.

All in accordance with the details, drawings, and specifications on file in the office of the Department of Public Works of said City; and such improvement is now ordered.

It is hereby found by said Board of Public Works that all benefits accruing hereunder will be to the general public of the City of Fort Wayne and that no special benefits will accrue to any property owner adjoining said improvement or otherwise assessable under said improvement. The cost of said improvement shall be paid 100% by the City of Fort Wayne.

Adopted this 30th day of ganuary,	2013.
BOARD OF PUBLIC WORKS	
the XXXX	
Robert Kennedy, Chairman	
Mile avila	
Mike Avila, Member	
Her Dee.	
Kumar Menon, Member	
ATTEST: Elistoria Coducirdo	
Victoria Edwards, Clerk	

Award: Resolution 12300, W. Jefferson Blvd - Taylor Street left turn lane

to Brooks Construction

in the amount of \$527,216.19

CITY OF FORT WAYNE BOARD OF PUBLIC WORKS

Date: Mar 06, 2013

Robert Kennedy, Chair

Mike Aylla, Member

Kumar Menon, Member

ATTEST: Victoria Edwards, Clerk

COUNCIL DIGEST SHEET

Enclosed with this introduction form is a tab sheet and related material from the vendor(s) who submitted bid(s). Transportation Engineering Services is providing this information to Council as an overview of the **West Jefferson Blvd** – **Taylor Street left turn lane** award.

P	\mathbf{F}	Ρe	&	\mathbf{R}	m	C
13	,	- 5	(N.		11/	

Bid/RFP#	12300
Awarded To	Brooks Construction
Amount	
Conflict of interest on file?	X Yes □ No n/a
Number of Registrants	6
Number of Bidders	4
Attachments	RESOLUTION, AWARD APPROVAL AND BID TAB ANALYSIS
	SHEET

EXTENSIONS

Date Last Bid Out	N/A	
# Extensions Granted	N/A	
To Date		

SPECIAL PROCUREMENT

Contract #/ID	12300
(State, Federal,	
PiggybackAuthority)	
Sole Source/	N/A
Compatibility Justification	

BID CRITERIA (Take Buy Indiana requirements into consideration.)

Most Responsible, Responsive Lowest	37.37	□ No	If no, explain below	
If not lowest, explain				

COUNCIL DIGEST SHEET

COST COMPARISON	
Increase/decrease amount	N/A
from prior years	
For annual purchase	
(if available).	
DESCRIPTION OF PRO	OJECT / NEED
Identify need for project &	
describe project; attach	SEE ATTACHED COMMON COUNCIL SUPPLEMENTAL
supporting documents as	
necessary.	
	'
	1
DECLIECT FOR BRIOD	ADDDOVAL
REQUEST FOR PRIOR	
Provide justification if	N/A
prior approval is being	
requested.	
FUNDING SOURCE	
Account Information.	CEDIT
and the second of the second o	

COMMON COUNCIL DIGEST SHEET - SUPPLEMENTAL

Action Requested:

Requesting approval of an award to Brooks Construction in the amount of \$527,216.19 pursuant to Board of Works resolution 12300.

Note: Brooks Construction was lowest most responsive bidder among 4 bidders at 7.99% over the engineer's estimate.

Description and Scope of Work:

The limits of this project extend from just west of Reckeweg Road to roughly 1000 feet east of Taylor Street.

This area has had many turning movement conflicts including left turn movements from westbound Jefferson traffic onto Taylor Street.

This project seeks to construct a dedicated left turn lane for westbound Jefferson traffic at Taylor Street, but it will also retain the existing right turn lane for eastbound traffic turning right onto Taylor Street.

The project scope also includes a curbed street section that stops short of the eastern limit of the project. The curbed section will include a curbed grassy median from Reckeweg Rd to near Taylor Street and a center bi-directional turn lane east of Taylor Street up to a curbed island 755 feet east of Taylor Street.

The project will also include reconstruction of affected drive approaches, drainage improvements, milling, reprofiling, and resurfacing, ada curb ramps and lawn restoration.